
Percentage Change Problems – www.m4ths.com  

(1) A book increases in value from £50 to £70. Find the % increase. 

(2) A hat decreases in value from £45 to £27. Find the % decrease. 

(3) A button decreases in value from £80 to £32. Find the % decrease. 

(4) A boat increases in value from £140 to £161. Find the % increase. 

(5) A painting increases in value from £1100 to £1595. Find the % increase. 

(6) A book decreases in value from £160 to £88. Find the % decrease. 

(7) A car decreases in value from £6500 to £4875. Find the % decrease. 

(8) A bike increases in value from £350 to £406. Find the % increase. 

(9) A bat decreases in value from £180 to £171. Find the % decrease. 

(10)  A tiger increases in value from £1200 to £1398. Find the % increase. 
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